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EUGENE DIETZGEN CO.

DRAWING MATERIALS, MATHEMATICAL and

SURVEYING INSTRUMENTS
Chicago New York San Francisco New Orleans Pittsburg Toronto

Distances from Center of Roadway for Cross-Sectioning
Roadway 16 feet wide.
For Single Track Embankment.

Side Slopes 1 on 1.

EEfocl 0 a7 | 4 [ T R
Ol SO 81| 82| 83| 84 85| 86| 87| 88| 8y 0
1 9.0{ 91| 92| 93] 94| 95| 96| 97| 9.8 99 1
2110.0]10.1§10.2|10.8|10.4]|10.5]10.6|10.7|10.8|10.9| 2
3(11.0]11.1|11.2|11.83)11.4|11.5[11.6|11.7|11.8|11.9 3
4120(121)122|12.3|12.4| 125|126 |12.7[12.8 | 129 || 4
51130(13.1]13.2(13.3]13.4]13.5|13.6}13.7[13.8 (139 5
6140]|141)142|143}14.4|145|14.6]14.7|148 |149| 6
7 1115.0]15.1]15.2|15.3|15.4]|15.5|15.6|15.7 | 15.8 | 159 || 7
8l16.0]16.1(16.2|16.3{16.4]|16.5|16.6|16.7|16.8 169 8
oll170l17117.2|173)17.4|17.5|17.6|17.7|17.8 |17.9 || 9
10 [ 18.0{18.1|18.2|18.3|18.4|18.5]|18.6 | 18.7 | 18.8 | 18.9 || 10
11 (| 19.0]19.1119.2]|19.3]19.4| 19.5|19.6 | 19.7 | 19.8 | 19.9 || 11
12 [ 20.0 | 20.1 | 20.2 | 20.3 | 20.4 | 20.5 | 20.6 | 20.7 | 20.8 | 20.9 || 12
13 21,0211 ]21.2]|21.3}21.4|21.5(|21.6]21.7|21.8|21.9 | 13
14 [|22.0| 221 | 22.2| 22.3| 22.4 | 22.5 | 22.6 | 22.7 | 22.8 | 22.9 | 14
15 | 230|231 | 23.2 | 23.3|23.4|23.5|23.6 [ 23.7|23.8 [ 23.9 || 15
16 | 24.0(24.1 | 24.2| 24.3]| 24.4 | 24.5 | 24.6 | 24.7 | 24.8 | 24.9 || 16
17 [ 25.0(25.1 | 25.2 | 25.3 | 25.4 | 25.5 | 25.6 | 25.7 | 25.8 | 25.9 || 17
18 1 26.0 | 26.1 | 26.2 | 26.3 | 26.4 | 26.5 | 26.6 | 26.7 | 26.8 | 26.9 || 18
19 [|27.0127.1|27.2|27.3|27.4|27.5|27.6 | 27.7 [27.8 | 27.9 || 19
20 || 28.028.1|28.2|28.3]28.4]28.528.6|28.7|28.8 |28.9 |20
21 29,01 29.1]|29.2[29.3]29.4129.5]|29.6|29.7|29.8 |29.9 || 21
22 1130.0 | 30.1 | 30.2 | 30.3 | 30.4 | 30.5 | 30.8 | 30.7 | 30.8 | 30.9 || 22
23 131.0/31.1]31.2(31.3|31.4(31.5|31.6|31.7|31.8 |31.9 || 23
24 113201321322 (32.3]|32.4]32.5(32.6 327|328 {32.9 || 24
25 (133,01 33.1|33.2(33.3|33.4|33.5|33.6|33.733.8 |33.9 || 25
96 [l 34.0| 34.1|34.2|34.3|34.4| 34.5|34.6 | 34.7 | 34.8 | 34.9 || 26
27 [ 35.035.1|35.2|35.3|35.435.5|35.6 357|358 | 35.9 || 27
28 1136.0 | 36.1 | 36.2 | 36.3 | 36.4 | 36.5 | 36.6 | 36.7 | 36.8 | 36.9 | 28
29 | 37.037.1|37.2|57.3|37.4|37.5|37.6|37.7|37.8 | 37.9 | 29
30 || 38.0| 381 | 38.2|38.3]38.4|38.5|38.6 |38.7 [38.8 [38.9 || 30
31 [139.039.1]39.2]39.3]|39.439.539.6|39.7 [ 39.8 [ 39.9 | 31
32 (1 40.0 | 40.1 | 40.2 | 40.3 | 40.4 | 40.5 | 40.6 | 40.7  40.8 | 40.9 || 32
33 141.0|41.1|41.2|41.3 | 41.4 | 41.5|41.6|41.7 [41.8 | 41.9 || 33
34 (42,0 | 42.1 | 42.2 | 42.3 | 42.4 | 42.5 | 42.6 | 42.7 | 42.8 | 42.9 || 34
35 1 43.0 | 43.1 | 43.2 | 43.3 | 43.4 | 43.5 | 43.6 | 43.7 | 43.8 | 43.9 || 35
36 | 44.0| 441 | 44.2| 44.3 | 44.4 | 44.5 | 44.6 | 44.7 | 44.8 | 44.9 | 36
37 | 45.0| 45.1 | 45.2 | 45.3 | 45.4 | 45.5 | 45.6 | 45.7 | 45.8 | 45.9 || 37
38 11 46.0 | 46.1 | 46.2 | 46.3 | 46.4 | 46.5 | 46.6 | 46.7 | 46.8 | 46.9 || 38
39 [ 47.0| 47.1 | 47.2 | 47.3 | 47.4 | 47.5 | 47.6 | 47.7 | 47.8 | 47.9 || 39
40 Il 4801 48.1) 48.2148.3148.4148.5148.6148.7148.8 148.9 Il 40

Example—If point is 22.6 {t. ab
to be a slope stake
of roadbed, correct
example above, for
30.6 =32.6. For slopes of 1on 14
Copyright, 1914, b

oint?

Ans. from C
above figures by one-half difierence in width
20 ft. roadbed distance will be 30.6+4-(20—16)
sce inside of back cover.

y Eugene Dietzgen Co.

ove grade, how far should it be from center line
Table 30.6. For same slopes but other yvzidths

of roadbed; thus in
+2 or 2 {t. added to
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Tasre IX.~-Circuration oF EARTHWORK.

g~

HEIGHT

15

.28

.56

.83

1.11

1.39.

b 1.67

: 1.94

5 222

X 2.50

4l .9 2.78
2(1 . 3.06
91, 3.33
61 3.61
1 3.89
11 4.17
i 9. g 4.44
1 .20 41| 472
1 .33 .67 | 5.00
1 .46 .92.| 5.28
1 2.59 13| 5.56
b 2.72/3 44| 583
312 12.85(3. g 6.11
2.13 1298 5 6.39
229 11 22 | 6.67
2.3142. 3-?25 : ; 48 | 6.94
2,41 % 3.37 6. 74 | 7.24
2.508.00(3 .50 0|6 .00 | 7.50
2.59 %13.63 i 6. .26 | 7.78
2.68/3.22(3.76/4. |6 .52 | 8.06
2/78(3133(3 80/4 7.22| 778 | 8.33
2.87(3.44/4.02/4. 017 .46/ 8.04 | 8.61
2.96(3.56(4.15/4. 17.70| 8.30 | 8.89
3.05(3.67|4.28 17.94|" 8.55 | 9.17
3.15(3.78/4.40 8.18| 8.81| 9.44
3.24(3.89(4.53 8.42| 9.08 | 9.72
3.33/4.00[4.66 .33/8.00{8.67| 9.33 | 10.00
3.42(4.11{4.79 .54/8.22/8.91| 9.59 | 10.28
3.52(4:22 ‘ .74|8.44(9.15| 9.85 | 10.56
9(3.61(4.33|5.0: .95(8.67(9.39| 10.11 | 10.83
3.70[4.44|5.1 .15/8.89(9.63( 10.37 | 11.11

' Table gives cu. yds. in 1 ft. of‘a triangle of given width and height. Corrections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similazl ions for tenths of height are one tenth the
figures opposite width consider to 9 as tenths.  Thusif w =16.2 and
h =5.3, cu. yds. =1.484-.028+.089 = Ve practically 160 cu. yds. per 100 ft.
If w exceeds 40 ft., use one half and multiply result by 2, if both w and h are large use
one half of each and multiply result by 4. Any cross-section may be divided into
triangles by the following rule. Tothe triangle of the sum of the outside cuts (or fills)
=h, and 14 the roadbed =w, add the triangles formed by taking the distance out to each
break in turn ( w’s) by the difference between the cuts (or fills) on each side of it ( =h’s)

alwuys subtracting the outérfrom the inner,



o o o

., DISTANCES FROM CENTER OF ROADWAY FOR
e CROSS-SECTIONING. o
Roadway 16 feet wide. Side Slopes 1 on 1%.;

Cris i [ ) oo 4 |
H| o[ af2| 8y a|sg]8|ajls]|o|nm
(',T / # 74 ¥ ./ o
j 40| 80|'82| 83 13.5 86| 881 80| a1 92| 94| 0
Ad1] 95| 97 98110.0]10.0]103]10.4 | 106 {107 | 109 | 1
Some do e 13115 | 106 | 11.8 111.9 1 1211 |12.2 (124 | 2
[f 31250127 |128113.0 | 18.1 [ 133 [ 134 | 156 | 187 | 13.9 | 3
[ if/4 |aso 14.2 | 14,3 | 14.5 14,6 | 14.8 | 14.9 {151 {152 | 154 || 4
{15 13511574 15.8 1 16.0{ 16,0 116.3 | 16.4 [ 16.6]16.7 | 169 | 5
D6 10 | 17:2 17,3 | 17.5 | 176 | 17.8 1 17.9 | 18,1 ‘}8.2 184 6
‘!f.;,, 7/118.5 [18.7 [ 18.8119.0 | 16,1 [ 19.3 | 19.4] 196 119.7 [ 19.9 | 7
il 18 20.0 | 202 2034 2055 | 266 | 208 | 209 | 211 f 212 [ 2114 | 8
lfl-f;v’ ‘Bliels] 217 | 21.81 220 (221 | 223 | 22.4 | 226|227 [229 | 9
(Al 101 28.0 | 23.2 | 23.3 | 285 | 25,61 23 8| 2394241 | 24.2 [ 24.4 || 10
il Ml el | 247 | 248 125.0 195,01 2581 25,41 25.6 | 25.7/ 25,9 | 11
gt f12 2;.0 25.2 | 26.8 | 26,5 26.6 g.s 260 127,1)272 | 27.4 | 12
Yl 01397.5 | 27.7 | 278 280 | 81 L0835 | 2541 2861 287 | 28.9 | 13
14! ;'ga.o 29212931 2051 906 [ 208 | 20.0 15071 | 202 | 30.4 | 1%
o 15:80.5 | 2071 308 | 810 410 513 |41 | 316|317 [31.9 | 15
.16 ('82:0 132 32.5 | 82,5 | 826 1 328 1 82,9 [/33.1 | 332 | 334 || 16
17 (1385 | 837 29.8 [ 8501 341 | 343§ 544 | 84,64 24.7 | 34.9 || 17
18 | 3501 85.455.3 | €551 85,61 35.8135.9 | 86.1 | 36.2/ 36.4 || 18
19 {1 36.5'| 86.7136.8 | 300 | 971 | 37.3 | 874|876 | 87.7 [ 37.9 || 19
20 ,_38.(1 8.2/ 88.3 1 2455 | 5.6 | 888185191301 1 59.2 | 39.4 || 20
12171395 1/39,7 | 80.8 | 4U.0 [ 40.1 | 40.3 1 40.4 1 40.6 | 40.7 1740.9 || 21
(g2 141,01 412 (4131 415 416 4181 41.9 | 42714221424 || 22
io281142.5' 42.7 | 42.8 1430 | 451 | 433 | 43.4 | 43.6 | 437 439 | 23
G024 44,0 | 442 (4431 4051 446 | 44.8] 44.9 | 451 |145.2 | 454 || 24
Ll 2a 4551 45.7 4581460 46.1 | 46.8 | 46.4| 46.6 1 46.7 | 46.9 || 25
26 l47.0] 47.2| 475 | 475 47.6 [47.8| 47.9] 48.1 | 48.2 [ 48.4 || 26
{27 485 48.7 {498 149.0{ 40.1 | 40.3 | 49.4 | 49.6 | 49.7 | 49.9 || 27
i b 28 | 50.0Y| 50.2 | 50.3 | 50.5 | 50.6 | 50.8 | 50.9 | 5141 51.2 [ 51.4 || 28
Y 29 515 | 517 | 518 | 520 52.1 | 52.3 524 |/52.6 | 52.7 | 52.9 || 29
30 || 43.04 53.2 | 58.5 | 53.5 | 53.6 | 53.8 | 53.9| 54.1 |'54.2 | 54.4 | 30
81 (| 34.5 | 54.7 | 54.8 | 55.0 | 55.1 | 55.8| 55.4 [(65,6 | 55.7 | 55.9 || 31
32 | 66.056.2 | 56.3 | 56.5 | 56.6 | 56.8 | 56.9 [ 57.1 | 57.2 | 57.4 || 32
33 || 57.5 | 57.7-{ 57.8 | 58.0 | 58.1 | 58.3 | 58.4 [ 58.6 | 58.7 | 58.9 || 32
34 |159.0 [ 59.2 | 50.3 | 59.5 } 59.6 | 59.8'| 50.9 [ 60.1 | 60.2 | 60.4 || 34
35 || 60.5 |'60.7 | 60.8 | 61.0{ 61.1| 61.3 | 61.4 { 61.6 | 61.7 | 61.9 || 35
36 |{62.0 | 62.2. 62.3 | 62.5 | 62.6 | 62.8 | 62.9| 63.1{ 63.2 | 63.4 || 36
37 ||63.5|63.7 [ 63.8|640|64.1|643|64.4|646|64.7|64.9] 37
38 |[65.0 | 65.2 | 65.3/'65.5 | 65.6, 65.8 | 65.9 | 66.1 | 66.2 | 66.4 || 33
39 [/ 66.5 | 66.7 | 66.8 | 67.0 | 67.1| 67.3 | 67.4 | 67.6 | 67.7 | 67.9 || 39
40 [(68.0 | 68.2|68.3 | 68.5 | 63.6 | 6.8 | 68.9 | 69.1 | 69.2 | 69.4 || 40

Example—If point is 22.6 ft. above grade, how far should it be from center line to
be a slope stake point? Ans. from Table 41.9. For same slopes but other widths of
roadbed correct above figures by one-hali difference in width of roadbed; thus in example
above for 20 ft. roadbed distance will be 41.94(20—16)+2 or 2 f{t. added 0 41.9 =439,
For slopes of 1 on 1 see inside of front cover.

Copyright, 1914, by Eugene Dietzgen Co.':/]___,i;~ 1_}_ Q’



